REVISIONS
REV. DESCRIPTION MD WO # DATE BY
1 Released W04047-002 11-MAY-2016| PMG
F
N PART NUMBER DESCRIPTION MATERIAL Qry.
1 N3010217-MDE-0003-0003 |Adapter Nipple WELDMENT ]
2 N3010217-MDE-0003-0004 |Bearing Assembly ASSEMBLY 1
3 N3010217-MDE-0003-0015 |Modified Double-Sided CF Flange AlSI 304 1
4 N3010217-MDE-0003-0016 |Drive Shaft 'A' AlSI 303 ]
) N3010217-MDE-0003-0017 |Limit Switch Cam - Rotary 6061-T6 Alum 1
6 N3010217-MDE-0003-0018 |Standoff 6061-T6 Alum 4
/ N3010217-MDE-0003-0019 |Motor Mount Plate 6061-T6 Alum 1
8 N3010217-MDE-0003-0022 |Support Structure Mount 6061-T6 Alum 2
9 N3010217-MDE-0003-0023 |Support Member 'A’ 6061-T6 Alum ]
10 N3010217-MDE-0003-0024 |Support Member 'B' 6061-T6 Alum 1
11 N3010217-MDE-0003-0025 |Support Structure Cross Brace 6061-T6 Alum 2
12 N3010217-MDE-0003-0027 |Guide Shaft Mount Block 6061-T6 Alum 2
13 N3010217-MDE-0003-0028 |Guide Shaft AlSI 303 1
14 N3010217-MDE-0003-0029 |Limit Switch Cam - Linear 6061-T6 Alum 1
\ 15 | N3010217-MDE-0003-0032 |Guide Bushing E@ﬂ%@j’r Bronze (UNS |
—~ Welded Bellows - 1.50" O.D. x 0.960" I.D.,
16 |N3010217-MDE-0003_Bellows|5.33" stroke, 2 3/4" CF Flanges (Standard | STAINLESS STEEL |
Bellows Co. # 150-96-13-I)
N3010217-MDE-0003_CF- |CF Flange Gasket - 2 3/4" CF (MDC #

17 gasket 191004 or equivalent) COPPER (C110) 2
18 | N3010217-MDE-0003_O-Ring |O-Ring - 3/32" W x 5/8"1.D. (AS568-114) | VITON ]
Spur Gear - 32 diametral pitch, 1/4"

diameter bore, 1/8" face, 20-degree
=] clamp hub
Split Hub Clamp - for 1/4" dia split hub,
i 20 W.MBerg CGI-12 1573127 Gig bore, 7/8' O.D., #6-32 screw  |503 55 2
‘ UC # C-608: Hex Socket Head Cap
W.w.u..m 21 UC_Components C-6xx s vented. #6.32 x 1/2" long AlSI 304 3
23 HBOLT 0.2500-28x1.25x0.75- |Hex Bolt, Size 1/4-28, Length 1.25, Thread |STAINLESS STEEL, AlSI 12
N-SST Length 0.75 TYPE 304 (18-8)
24 B27.7M - 3AM1-10 Extemal Refaining Ring - for DIOMM | STAINLESS STEEL ]
. Material <not
25 DPM 0.1875x0.75 3/16 x 3/4 Dowel Pin specified> 2
SSCUPSKT 0.19-24x0.75-HX-N- | Socket Set Screw Cup Point, Size #10-24, |>JEEL BLACK OXIDE
26 COATED-GRADE 5 2
SBO Length 0.75 MINIMUM
SSCUPSKT 0.25-20x1.25-HX-N-|Socket Set Screw Cup Point, Size 1/4-20, |>JEEL, BLACK OXIDE
27 COATED-GRADE 5 2
SBO Length 1.25 MINIMUM
Pan Cross Head, Drive Type Cross, Size
CR-PHMS 0.086- STEEL, ZINC PLATED-
28 | 56x0.4375x0.4375-N-szp | Bo=8. Length 0.4375, Thread Length GRADE 5 MINIMUM 2
b6 | HX-SHCS 0.138-32x1.25x0.75-| Socket Head Cap Screw, Size #6-32, oAt a2 2t )
N-SBO Length 1.25, Thread Length 0.75 MINIMUM
30 | HX-SHCS 0.164-32x0.75x0.75- | Hex Socket Head Cap Screw - #8-32x | dgxres iy 28 o )
N-SBO 3/4" long MINIMUM
« |STEEL, BLACK OXIDE
31 |HX-SHCS 0.164-32x1x1-N-sBO | HEx Socket Head Cap Screw - #8-32X 1" | COATED-GRADE 5 6
9 MINIMUM
3 HX-SHCS 0.19- Hex Socket Head Cap Screw - #1024x | S aarBoASK OXIDE 8
24x0.5625x0.5625-N-SBO  |9/16" long MINIMUM
HX-SHCS 0.19-24x0.75x0.75- |Hex Socket Head Cap Screw - #10-24 x| SJEEL BLACK OXIDE
33 " COATED-GRADE 5 4
N-SBO 3/4" long MINIMUM
34 HX-SHCS 0.19- Hex Socket Head Cap Screw - #1024x | J s BEASK OXIDE )
24x0.875x0.875-N-SBO 7/8"long MINIMUM
35 | HX-SHCS 0.19-24x1.75x0.875- |Socket Head Cap Screw, Size #10-24, | J g EEACK ORIDE A
N-SBO Length 1.75, Thread Length 0.875 MINIMUM
36 | MSHXNUT 0.190-24-D-N-SZP |Hex Nut - #10-24 S nr LING FLAED: 2
37 | MSHXNUT 0.250-20-D-N-SZP |[Hex Nut - 1/4"-20 S nr LING FLAED: 2
UNLESS OTHERWISE SPECIFIED: . .
DIMENSIONS ARE IN INCHES J National Superconducting Cyclotron Laboratory
EEEAA&EVAELk EFQSIEREDGES 02 MAX. y MICHIGAN STATE UNIVERSITY - East Lansing, Michigan
DO NOT SCALE DRAWING ~ GLENNON - Beam Degrader
Dimension Tolerances  scalE DATE DESCRIPTION
APPROXIMATE WEIGHT: 16.58 LB~ N%010217-MDE-0003-0000 Jlocebec 0% 35 MAYZ6 | inear-Rotary Actuator
NEXT ASSEMBLY A 1% SBE r/;;:;l:fv F’NAFE’,TS10217-MDE-0003-0002 R’iv

8 7 6 5 4 3 2 1 SHEET 1 OF 2



{4250 (14.067) -
n n ]
‘ [ ¢7.090
® O E d p
O O ©
i | _ g B
] a1 |
E o 0o 1 - i 1 o E
(8.285) (8.210) ]
| N Tﬂ N 77 Y _:I
O O O O
<
N s
D
(4775 )

A<—

3

@%

(o ] [T

119z

| SECTION A-A

A<—

UNLESS OTHERWISE SPECIFIED: . .
DIMENSIONS ARE IN INCHES J National Superconducting Cyclotron Laboratory

BREAK ALL SHARP EDGES .02 MAX. MICHIGAN STATE UNIVERSITY - East Lansing, Michigan
REMOVE ALL BURRS

30 Deg. CHAMFER ENDS ALL THREADS

MACHINE SURFACE FINISH DRAWN BY Project / System Reference
DO NOTSCALE DRAWING ~ GLENNON  Beam Degrader
Dimension Tolerances  scalE DATE DESCRIPTION
N3010217-MDE-0003-0000 ] Place Dec. +.030 3:4 MAY2016 | inear-Rotary Actuator
3Place Dec. 1.008 SIZE | MATERIAL PART # REV
NEXT ASSEMBLY Anges 18T D AssemeLy N3010217-MDE-0003-0002 1

8 7 6 5 4 3 2 1 SHEET 2 OF 2



	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Drawing View11
	Drawing View12
	Drawing View13
	Section View A-A


